

blocking & analysis of covariance

last week: power next week: regression



























an example							
Tests of Between-Subjects Effects							
Source	Type III Sum of Squares	df	Mean Square	F	Sia.		
IV	199.850	1	199.850	2.464	.124		
Error	3487.500	43	81.105				
Total	8966.667	44					
	Tests of B	etween-Su	bjects Effects				
-	Type III Sum			_			
Source	of Squares	dt 1	Mean Square	F 5 2 2 2	Sig.		
11/			199.60	J.3∠3	.020		
IV Block	199.85	0	054.445	05 000	000		
IV Block	199.85	2	951.145	25.332	.000		
IV Block IV*Block	199.85 1902.290 120.870	2	951.145 60.435	25.332 1.610	.000 .212		
IV Block IV*Block Error	199.85 1902.290 120.870 1464.340	2 2 39	951.145 60.435 37.547	25.332 1.610	.000 .212		







Tests of Between-Subjects Effects										
Type III Sum Type III Sum Source of Squares df Mean Square F Sig. Task 232 000 4 58 000 6 520 000										
Error Total	232.000 4 58.000 6.520 400.000 45 8.890 632.000 49									
a significant task*experimenter interaction would mean that task and experimenter are confounded – treatment differences due to task would vary with who was conducting the experiment										
Source	of Squares	of Squares df Mean Square F		F	Sig.					
Task	232.000) 4	58.000	8.790	.000					
Experimenter	49.000) 4	12.250	1.860	.149					
Task x Experimenter	186.000	16	11.630	1.760	.168					
Error Total	165.000 632.000) 25) 49	6.600							
					19					



SS	df	MS	F
213.78	2	106.89	0.71
2263.33	15	150.89	
2477.11	17		
e (e.g., 60-69, 70	0-79, 80+)	1	
SS	df	MS	F
213.78	2	106.89	4.18*
1933.78	2	966.89	37.83*
99.55	4	24.89	0.97
230.00	9	25.56	
2477.11	17		
			(no interaction)
•	213.78 2263.33 2477.11 (e.g., 60-69, 70 SS 213.78 1933.78 99.55 230.00 2477.11	33 01 213.78 2 2263.33 15 2477.11 17 (e.g., 60-69, 70-79, 80+) SS SS df 213.78 2 1933.78 2 99.55 4 230.00 9 2477.11 17	$\begin{array}{cccccccccccccccccccccccccccccccccccc$

Effects of I	length of exer	cise (E)	on students	' flexibility:
One-way AN	IOVA			
Source	SS	df	MS	F
Exercise	1065.50	2	532.75	18.42*
Error	1301.75	45	28.93	
Total	2367.25	47		
Block on ger	nder (<i>G</i>):			
Source	SS	df	MS	F
Exercise	1065.50	2	532.75	36.02*
Gender	330.75	1	330.75	22.36*
EG	350.00	2	175.00	11.83*
Error	621.00	42	14.79	
Total	2367.25	47		
 finding th interaction (moderate) 	nat treatment effo n) – potential co or) – interesting!	ects differ nfound –	according to g NOT GOOD –	jender (significant or new IV
				23



advantages:

- may equate treatment groups better than completely randomized design (equal n for levels of Blocking factor)
- greater power (smaller error term)
- check interactions of treatments and blocks (do effects of treatments generalise?)

disadvantages:

- cost of introducing blocking factor
- need blocking variables that are highly correlated with DV
- loss of power if blocking variable is poorly correlated with DV (r < .20), because fewer *df*error
- treats blocking factor as having discrete levels; some variables must be artificially grouped for analysis (lose information)











Analysis of Covariance— ANCOVA

- Originally a technique for analysing experiments and removing nuisance variation
- Attempt to <u>reduce error term</u> by measuring another variable and estimating its parameters
 - if the variable affects the DV and it is not part of the statistical model for the ANCOVA, the variable is in the unmeasured 'error'...

31

 Ho
 Hi

 Image: power
 Image: power

 Image: power
 Image: power

 Image: power
 Image: power

































how does that do anything different to blocking?

- at this stage it does not...
 - the effects of the covariate are subtracted from the error term, making it smaller
- the next thing ancova does is quite different to blocking
 - *treatment means* are adjusted to account for differences on the covariate
 - random assignment to IV conditions normally prevent differences in covariate means (confounds should be designed out)
 - But in case covariate does differ across groups, ANCOVA effectively *partials out* the effects of the covariate from the *focal IV as well as the error term*

50



















comparison of 1-way anova, blocking and 1-way ancova Tests of Between-Subjects Effects						
Source	Type III Sum of Squares	df	Mean Square	F	Sia.	
Car	231.780	2	106.890	.710	.506	
Error	2263.330	15	150.890			
Total	2477.110	17				
1-way an	eff	ect is not sig	gnificant			

comparison of 1-way anova, blocking and 1-way ancova

Tests of Between-Subjects Effects								
Dependence and the second profession								
	Type III Sum							
Source	of Squares	df	Mean Sq	uare	F	Sig.		
Car	213.780	2	106.890		4.180	.052		
Experience	1933.780	2	966.890		37.830	.000		
Car x Experience	99.550	4	24.890		.970	.469		
Error	230.000	9	25	.560				
Total	2477.110	17						
blocking, u	ising							
factorial a	effect is <i>marginally</i> significant due to reduction of error term from 150.89 to 25.56							
6								

comparison of 1-way anova, blocking and 1-way ancova							icova		
Tests of Between-Subjects Effects									
DV = handling	DV = handling (experience as a <i>continuous</i> scale, included as a covariate)						e)		
Source		Type III Sum of Squares	df Mean Sou			lare	F		Sig.
Car		252.040		2	126.	020	8.697		.003 <
Regression		1833.780		1	1833.	780	126.	555	.000
Error		202.880		14	14.	490		1	
Total		2477.110		17					
ancova				reduction of error term from 150.89 to 14.49					
	increase in treatment effect from 106.89 to 126.02					effe sig	ct is nific	ant! 62	

























Next week in class:

Correlation and regression

In the tutes:

- This week: Assignment 1 consult
- Next week: Correlational designs, SPSS

readings :

- ancova
 - Howell section 16.5 and 16.6
 - Field, Chapter 9
- review correlation and regression:
 - Howell chapter 9, 10 and section 15.1
 - Field, Chapter 4 and Chapter 5: sections 5.1 to 5.4